## Survey of Students' Opinions of Teaching by Part Time Class Teachers

#### Michaelmas Term 2007

EC402
Economics Department
BURCHARDI, MR KONRAD BURCHARD

**Question:** Please write below aspects of the class teaching that have pleased you most and describe briefly why these aspects have pleased you.

- His explanations were very clear.
- Going through in a structured manner and linking up the questions and the underlying concepts which aren't obvious prima facie when we were doing the work. Entertaining the most trivial questions by Konrad in good faith (of pedagogy) which I think makes him a good tutor.
- very clear in pointing out the interest of the different questions, and how they were related to the topic

Not Answered: 4

**Question:** Please write below aspects of the class teaching by that have most displeased you and explain briefly why these have displeased you.

- no
- Perhaps dedicating more time to elaboration rather than having question and answer sessions as those who are clueless would not respond, otherwise the questions are fairly obvious enough so time could be spent on furthering certain elaborations which I find is very helpful.

Not Answered: 5

# Survey of Students' Opinions of Teaching by Part Time Class Teachers

#### Michaelmas Term 2007

Question: Overall, how much intellectual benefit have you derived from the classes so far in this course?

Statistics
1.00
4.00
2.14
15
1.07
2
2

Question: In general, how satisfied have you been so far with the class teaching on this course?

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Very satisfied	5	71.4%	71.4%	71.4%	Minimum Value	1.00
Fairly satisfied	1	14.3%	14.3%	14.3%	Maximum Value	3.00
Not very satisfied	1	14.3%	14.3%	14.3%	Average	1.43
Not at all satisfied	0	0.0%	0.0%	0.0%	Sum	10
Not Answered	0	N/A	0.0%	0.0%	Standard Deviation	0.79
Not Asked	0	N/A	N/A	0.0%	Median	1
Total	7	100%	100%	100%	Mode	1

## Survey of Students' Opinions of Teaching by Part Time Class Teachers

#### Michaelmas Term 2007

EC402 Economics Department BURCHARDI, MR KONRAD BURCHARD

Question: Which of the reasons given below describe why you are taking this course? Please select all that apply

	Count	% Sample Answered
It is compulsory for my degree programme	6	85.7%
I am interested in the subject matter	2	28.6%
It was recommended to me by other students	1	14.3%
It was recommended to me by a tutor	1	14.3%
Other (specify)	0	0.0%

Question: How much of the essential or strongly recommended reading have you been able to do so far?

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
All or most of it	1	14.3%	14.3%	14.3%	Minimum Value	1.00
Some of it	3	42.9%	42.9%	42.9%	Maximum Value	4.00
A little of it	2	28.6%	28.6%	28.6%	Average	2.43
None of it	1	14.3%	14.3%	14.3%	Sum	17
Not applicable, no essential or					Standard Deviation	0.98
strongly	0	0.0%	0.0%	0.0%	Median	3
recommended reading					Mode	2
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		

Question: Please rate your teacher on the following:

Topic: Skill at leading discussions

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	0	0.0%	0.0%	0.0%	Minimum Value	2.00
Very good	4	57.1%	57.1%	57.1%	Maximum Value	3.00
Fairly good	3	42.9%	42.9%	42.9%	Average	2.43
Poor	0	0.0%	0.0%	0.0%	Sum	17
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.53
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	3
Not Answered	0	N/A	0.0%	0.0%	Mode	2
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		

## Survey of Students' Opinions of Teaching by Part Time Class Teachers

#### Michaelmas Term 2007

**Question:** Please rate your teacher on the following: **Topic:** Skill at involving members of the class

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	2	28.6%	28.6%	28.6%	Minimum Value	1.00
Very good	1	14.3%	14.3%	14.3%	Maximum Value	3.00
Fairly good	4	57.1%	57.1%	57.1%	Average	2.29
Poor	0	0.0%	0.0%	0.0%	Sum	16
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.95
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	3
Not Answered	0	N/A	0.0%	0.0%	Mode	3
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		

**Question:** Please rate your teacher on the following: **Topic:** Clarity in presenting course material

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistic	es
Excellent	3	42.9%	42.9%	42.9%	Minimum Value	1.00
Very good	3	42.9%	42.9%	42.9%	Maximum Value	3.00
Fairly good	1	14.3%	14.3%	14.3%	Average	1.71
Poor	0	0.0%	0.0%	0.0%	Sum	12
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.76
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	2
Not Answered	0	N/A	0.0%	0.0%	Mode	Multi-Modal
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		

Question: Please rate your teacher on the following:

**Topic:** Success at improving your understanding of the course material

Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
3	42.9%	42.9%	42.9%	Minimum Value	1.00
2	28.6%	28.6%	28.6%	Maximum Value	4.00
1	14.3%	14.3%	14.3%	Average	2.00
1	14.3%	14.3%	14.3%	Sum	14
0	0.0%	0.0%	0.0%	Standard Deviation	1.15
0	N/A	0.0%	0.0%	Median	2
0	N/A	0.0%	0.0%	Mode	1
0	N/A	N/A	0.0%		
7	100%	100%	100%		
	3 2 1 1 0 0	Answered  3 42.9% 2 28.6% 1 14.3% 1 14.3% 0 0.0% 0 N/A 0 N/A 0 N/A	Answered Asked  3 42.9% 42.9% 2 28.6% 28.6% 1 14.3% 14.3% 1 14.3% 14.3% 0 0.0% 0.0% 0 N/A 0.0% 0 N/A 0.0% 0 N/A N/A	Count         Answered         Asked         Total           3         42.9%         42.9%         42.9%           2         28.6%         28.6%         28.6%           1         14.3%         14.3%         14.3%           1         14.3%         14.3%         14.3%           0         0.0%         0.0%         0.0%           0         N/A         0.0%         0.0%           0         N/A         0.0%         0.0%           0         N/A         N/A         0.0%	Count         Answered         Asked         Total         Statistics           3         42.9%         42.9%         Minimum Value           2         28.6%         28.6%         Maximum Value           1         14.3%         14.3%         Average           1         14.3%         14.3%         Sum           0         0.0%         0.0%         Standard Deviation           0         N/A         0.0%         0.0%           0         N/A         0.0%         0.0%           0         N/A         N/A         0.0%

# Survey of Students' Opinions of Teaching by Part Time Class Teachers

#### Michaelmas Term 2007

**Question:** Please rate your teacher on the following: **Topic:** Success at getting you interested in the course

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	1	14.3%	14.3%	14.3%	Minimum Value	1.00
Very good	3	42.9%	42.9%	42.9%	Maximum Value	4.00
Fairly good	1	14.3%	14.3%	14.3%	Average	2.57
Poor	2	28.6%	28.6%	28.6%	Sum	18
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	1.13
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	3
Not Answered	0	N/A	0.0%	0.0%	Mode	2
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		

Question: Please rate your teacher on the following:

Topic: Ability to communicate a structure to the topic of each class meeting

Count	% Sample Answered	% Sample Asked	% Sample Total	Statistic	cs
3	42.9%	42.9%	42.9%	Minimum Value	1.00
3	42.9%	42.9%	42.9%	Maximum Value	3.00
1	14.3%	14.3%	14.3%	Average	1.71
0	0.0%	0.0%	0.0%	Sum	12
0	0.0%	0.0%	0.0%	Standard Deviation	0.76
0	N/A	0.0%	0.0%	Median	2
0	N/A	0.0%	0.0%	Mode	Multi-Modal
0	N/A	N/A	0.0%		
7	100%	100%	100%		
	3 3 1 0 0 0	Answered  3 42.9% 3 42.9% 1 14.3% 0 0.0% 0 0.0% 0 N/A 0 N/A 0 N/A	Count         Answered         Asked           3         42.9%         42.9%           3         42.9%         42.9%           1         14.3%         14.3%           0         0.0%         0.0%           0         0.0%         0.0%           0         N/A         0.0%           0         N/A         0.0%           0         N/A         N/A           0         N/A         N/A	Count         Answered         Asked         Total           3         42.9%         42.9%         42.9%           3         42.9%         42.9%         42.9%           1         14.3%         14.3%         14.3%           0         0.0%         0.0%         0.0%           0         0.0%         0.0%         0.0%           0         N/A         0.0%         0.0%           0         N/A         0.0%         0.0%           0         N/A         N/A         0.0%           0         N/A         N/A         0.0%	Count         Answered         Asked         Total         Statistic           3         42.9%         42.9%         Minimum Value           3         42.9%         42.9%         Maximum Value           1         14.3%         14.3%         Average           0         0.0%         0.0%         Sum           0         0.0%         0.0%         Standard Deviation           0         N/A         0.0%         0.0%           0         N/A         0.0%         0.0%           0         N/A         N/A         0.0%

**Question:** Please rate your teacher on the following: **Topic:** Helpfulness of comments on your written work

Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
1	50.0%	14.3%	14.3%	Minimum Value	1.00
1	50.0%	14.3%	14.3%	Maximum Value	2.00
0	0.0%	0.0%	0.0%	Average	1.50
0	0.0%	0.0%	0.0%	Sum	3
0	0.0%	0.0%	0.0%	Standard Deviation	0.71
5	N/A	71.4%	71.4%	Median	2
0	N/A	0.0%	0.0%	Mode	Multi-Modal
0	N/A	N/A	0.0%		
7	100%	100%	100%		
	1 0 0 0 5	1 50.0% 1 50.0% 0 0.0% 0 0.0% 0 0.0% 5 N/A 0 N/A 0 N/A	Count         Answered         Asked           1         50.0%         14.3%           1         50.0%         14.3%           0         0.0%         0.0%           0         0.0%         0.0%           0         0.0%         0.0%           5         N/A         71.4%           0         N/A         0.0%           0         N/A         N/A	Count         Answered         Asked         Total           1         50.0%         14.3%         14.3%           1         50.0%         14.3%         14.3%           0         0.0%         0.0%         0.0%           0         0.0%         0.0%         0.0%           0         0.0%         0.0%         0.0%           5         N/A         71.4%         71.4%           0         N/A         0.0%         0.0%           0         N/A         N/A         0.0%	Count         Answered         Asked         Total         Statistics           1         50.0%         14.3%         14.3%         Minimum Value           1         50.0%         14.3%         14.3%         Maximum Value           0         0.0%         0.0%         0.0%         Average           0         0.0%         0.0%         Sum           0         0.0%         0.0%         Standard Deviation           5         N/A         71.4%         Median           0         N/A         0.0%         0.0%           0         N/A         N/A         0.0%

# Survey of Students' Opinions of Teaching by Part Time Class Teachers

### Michaelmas Term 2007

 ${\bf Question:}\ {\sf Please}\ {\sf rate}\ {\sf your\ teacher}\ {\sf on\ the\ following:}$ 

Topic: Spoken English

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistic	cs
Excellent	3	42.9%	42.9%	42.9%	Minimum Value	1.00
Very good	3	42.9%	42.9%	42.9%	Maximum Value	3.00
Fairly good	1	14.3%	14.3%	14.3%	Average	1.71
Poor	0	0.0%	0.0%	0.0%	Sum	12
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.76
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	2
Not Answered	0	N/A	0.0%	0.0%	Mode	Multi-Modal
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		

 $\label{eq:Question:Please rate your teacher on the following:} \textbf{Question:} \ \textbf{Please rate your teacher on the following:}$ 

Topic: Audibility

Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
3	42.9%	42.9%	42.9%	Minimum Value	1.00
4	57.1%	57.1%	57.1%	Maximum Value	2.00
0	0.0%	0.0%	0.0%	Average	1.57
0	0.0%	0.0%	0.0%	Sum	11
0	0.0%	0.0%	0.0%	Standard Deviation	0.53
0	N/A	0.0%	0.0%	Median	2
0	N/A	0.0%	0.0%	Mode	2
0	N/A	N/A	0.0%		
7	100%	100%	100%		
	3 4 0 0 0 0 0	Answered  3 42.9% 4 57.1% 0 0.0% 0 0.0% 0 0.0% 0 N/A 0 N/A 0 N/A	Count         Answered         Asked           3         42.9%         42.9%           4         57.1%         57.1%           0         0.0%         0.0%           0         0.0%         0.0%           0         0.0%         0.0%           0         N/A         0.0%           0         N/A         0.0%           0         N/A         N/A           0         N/A         N/A	Count         Answered         Asked         Total           3         42.9%         42.9%         42.9%           4         57.1%         57.1%         57.1%           0         0.0%         0.0%         0.0%           0         0.0%         0.0%         0.0%           0         0.0%         0.0%         0.0%           0         N/A         0.0%         0.0%           0         N/A         0.0%         0.0%           0         N/A         N/A         0.0%           0         N/A         N/A         0.0%	Count         Answered         Asked         Total         Statistics           3         42.9%         42.9%         Minimum Value           4         57.1%         57.1%         Maximum Value           0         0.0%         0.0%         Average           0         0.0%         0.0%         Sum           0         0.0%         0.0%         Standard Deviation           0         N/A         0.0%         Median           0         N/A         0.0%         0.0%           0         N/A         N/A         0.0%

Question: Please rate your teacher on the following:

**Topic:** Extent to which teacher was prepared for each class

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	4	57.1%	57.1%	57.1%	Minimum Value	1.00
Very good	2	28.6%	28.6%	28.6%	Maximum Value	3.00
Fairly good	1	14.3%	14.3%	14.3%	Average	1.57
Poor	0	0.0%	0.0%	0.0%	Sum	11
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.79
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	2
Not Answered	0	N/A	0.0%	0.0%	Mode	1
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		

## Survey of Students' Opinions of Teaching by Part Time Class Teachers

#### Michaelmas Term 2007

**Question:** Please rate your teacher on the following: **Topic:** Willingness to accept questions during class

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	2	28.6%	28.6%	28.6%	Minimum Value	1.00
Very good	4	57.1%	57.1%	57.1%	Maximum Value	3.00
Fairly good	1	14.3%	14.3%	14.3%	Average	1.86
Poor	0	0.0%	0.0%	0.0%	Sum	13
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.69
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	2
Not Answered	0	N/A	0.0%	0.0%	Mode	2
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		

Question: How quickly was any written work submitted for marking usually returned to you by your class teacher?

No answered records.

 $\textbf{Question:} \ \ \text{Were you able to visit your class teacher for consultations during office hours?}$ 

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Yes	3	42.9%	42.9%	42.9%	Minimum Value	1.00
No	0	0.0%	0.0%	0.0%	Maximum Value	3.00
I have not sought out my class 4 teacher	57.1%	57.1%	57.1%	Average	2.14	
				Sum	15	
Not Answered	0	N/A	0.0%	0.0%	Standard Deviation	1.07
Not Asked	0	N/A	N/A	0.0%	Median	3
Total	7	100%	100%	100%	Mode	3

Question: Why were you not able to visit your class teacher? Please select all that apply

No answered records.

Question: In presenting course material in class, has your class teacher...

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Accurately assessed your					Minimum Value	1.00
level of prior knowledge	5	71.4%	71.4%	71.4%	Maximum Value	2.00
					Average	1.29
Assumed you knew more than	2	28.6%	28.6%	28.6%	Sum	9
you actually did	~~~				Standard Deviation	0.49
Assumed you knew less than	0	0.0%	0.0%	0.0%	Median	1
you actually did					Mode	1
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	7	100%	100%	100%		